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1.When does integration occur in an iterative lifecycle? 

A.In Elaboration, Construction, and Transition iterations, and sometimes in Inception. 

B.Only at the end of Elaboration and Construction. 

C.Only in iterations that produce external releases. 

D.Only at the end of Elaboration, Construction, and Transition. 

Correct:A  
2.What role is typically responsible for the Risk List artifact? 

A.Project Reviewer 

B.Configuration Manager 

C.Process Engineer 

D.Project Manager 

Correct:D  
3.At the end of what phase will you find the Initial Operational Capability (IOC) Milestone? 

A.Implementation 

B.Construction 

C.Transition 

D.Elaboration 

E.Inception 

Correct:B  
4.Which of the following are evaluation criteria for reaching the Lifecycle Objectives Milestone? 
(Select all that apply.) 
A.Stakeholders concur on scope definition and cost/schedule estimates 

B.The key approaches to be used in test and evaluation are proven. 

C.There is a shared understanding of the subset of requirements that have been captured so far. 

D.All risks have been identified and a mitigation strategy exists for each. 

Correct:A C D  
5.Which of the following is true about the generalization relationship? 

A.It is represented by a dashed arrow. 

B.It is represented by a diamond symbol. 

C.It is a special form of aggregation. 

D.It is often called inheritance. 

Correct:D    


